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IKRBITEE v & — 556 562 1,118 254 276 530 45.68 49.11 47.41

2| KA REERREE 934 891 1,825 415 447 862 44.43 50.17 47.23

3| B FK 1,515 1,493 3,008 713 784 1,497 47.06 52,51 49.77

KA RELE > X — 1,418 1,247 2,665 503 504 1,007 35.47 40.42 37.79

S| E/NFR 2,218 2,077 4,295 857 892 1,749 38.64 42.95 40.72

6NNt R — 1,684 1,650 3,334 706 751 1,457 41.92 45.52 43.70

TIREF R RNFER 1,599 1,481 3,080 504 467 971 31.52 31.53 31.53

8| FE) I/ NF 1,076 1,242 2,318 488 532 1,020 45.35 42.83 44.00

9L’ 1,500 1,136 2,636 466 441 907 31.07 38.82 34.41
10| S 2 H/NF I 961 1,050 2,011 456 472 928 47.45 4495 46.15
IRNE::VENS g RS e e 8717 944 1,821 418 480 898 47.66 50.85 49.31
128F1THE X — 1,114 1,147 2,261 522 518 1,040 46.86 45.16 46.00
13| NFR 2,228 2,139 4,367 944 996 1,940 42.37 46.56 44.42
14 FE =TT 236 265 501 166 157 323 70.34 59.25 64.47
15| BB =X 1,619 1,351 2,970 586 567 1,153 36.20 41.97 38.82
16|ER/NFK 1,700 1,648 3,348 679 726 1,405 39.94 44.05 41.97
17| ERFNER 1,201 1,189 2,390 502 548 1,050 41.80 46.09 43.93
18|5IFT=EE 1,452 1,423 2,875 550 582 1,132 37.88 40.90 39.37
9 ERTHE X — 2,172 2,193 4,365 923 982 1,905 42.50 4478 43.64
20| ERF/NFR 1,895 1,772 3,667 657 663 1,320 34.67 37.42 36.00
21| R E—X&ERFT 1,330 1,304 2,634 512 497 1,009 38.50 38.11 38.31
22|35 — X ERFT 1,511 1,411 2,922 452 405 857 29.91 28.70 29.33
23| HESRERT 829 816 1,645 448 458 906 54.04 56.13 55.08
4| BEERITHE Y X — 867 890 1,757 395 424 819 45.56 47.64 46.61
BIREEFREy 2 — 530 534 1,064 249 258 507 46.98 48.31 47.65
26| E/NREERFR 1,471 1,439 2,910 587 590 1,177 39.90 41.00 40.45
27| BT =88 1,003 991 1,994 367 419 786 36.59 42.28 39.42
8 FHIIEREY & — 1,588 1,461 3,049 571 597 1,168 35.96 40.86 38.31
29| JB/NER 1,697 1,589 3,286 584 594 1,178 34.41 37.38 35.85
30| R/EHTREE 1,479 1,391 2,870 593 597 1,190 40.09 42.92 41.46
B1PREFITH > % — 1,098 1,103 2,201 502 520 1,022 45.72 47.14 46.43
R|EHENINEREYy & — 2,520 2,254 4,774 829 855 1,684 32.90 37.93 35.27
33| A/ N FR 2,301 2,309 4,610 1,130 1,157 2,287 49.11 50.11 49.61
34| ANETEB 475 469 944 229 244 473 48.21 52.03 50.11
35| AT BERFT 2,019 1,854 3,873 709 699 1,408 35.12 37.70 36.35
36| ARTEEEERT 1,035 1,107 2,142 454 524 978 43.86 47.34 45.66
37| HRIFIER > 2 — 1,372 1,377 2,749 607 654 1,261 44.24 47.49 45.87
38| 4-R=EE 911 1,015 1,926 412 445 857 45.23 43.84 44.50
39|FENP/NER 1,699 1,564 3,263 703 704 1,407 41.38 45.01 43.12
40| RIGERT 1,104 1,141 2,245 489 496 985 44.29 43.47 43.88
A KRETEEEER 731 747 1,478 326 356 682 44.60 47.66 46.14
RBERFRXRAEE 1,199 1,161 2,360 491 488 979 40.95 42.03 41.48
43| BEFIARR =EE 724 646 1,370 259 279 538 35.77 43.19 39.27
44| Sl ERTRER 1,166 1,168 2,334 502 495 997 43.05 42.38 42.72
45| BRR R EE 1,072 1,118 2,190 495 512 1,007 46.18 45.80 45.98
46| R R FR 979 1,031 2,010 469 517 986 47.901 50.15 49.05
47| BAREE 725 600 1,325 273 263 536 37.66 43.83 40.45
43| E BB 2AEE 982 917 1,899 367 381 748 37.37 41.55 39.39
OB LEFBE=RER 725 711 1,436 321 331 652 44.28 46.55 45.40
S0|ESITE Y % — 1,028 1,036 2,064 418 473 891 40.66 45.66 43.17
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SlIEEREL Y & — 1,547 1,573 3,120 590 616 1,206 38.14 39.16 38.65
52| RATTEtE > % — 1,448 1,477 2,925 635 647 1,282 43.85 43.81 43.83
B3| NIBTE £ > & — 1,452 1,439 2,891 691 720 1,411 47.59 50.03 48.81
S| KligHhHZ oRERE 1,074 1,148 2,222 489 525 1,014 4553 45.73 45.63
55 MK R=EE 1,472 1,472 2,944 638 635 1,273 43.34 43.14 43.24
56| F HERERFT 1,275 1,266 2,541 476 455 931 37.33 35.94 36.64
57| B HALERFT 610 604 1,214 270 262 532 44.26 43.38 43.82
58| mEF A ~EE 232 241 473 116 112 228 50.00 46.47 48.20
59| HRFT R 1,472 1,487 2,959 595 588 1,183 40.42 39.54 39.98
60| #BFTITE > %X — 877 898 1,775 334 360 694 38.08 40.09 39.10
61| LR TREE 615 577 1,192 227 252 479 36.91 43.67 40.18
62| R HX N REE 982 966 1,948 400 399 799 40.73 41.30 41.02
63| = SHX AN REE 1,387 1,393 2,780 523 546 1,069 37.71 39.20 38.45
64| 1Lz R REE 1,471 1,446 2,917 507 513 1,020 34.47 35.48 34.97
65| KER—X A REE 971 1,040 2,011 323 346 669 33.26 33.27 33.27
66| KR AKX A REE 1,593 1,652 3,245 643 649 1,292 40.36 39.29 39.82
67| KREXAREE 2,199 2,098 4,297 699 656 1,355 31.79 31.27 31.53
68| T ET =R 1,453 1,472 2,925 688 774 1,462 47.35 52.58 49.98
69| B HEERFT 460 483 943 209 231 440 45.43 47.83 46.66
70|\ AREE 1,042 1,019 2,061 495 495 990 47.50 48.58 48.03
T1HEASHET - BEFETER Y 2 — 939 889 1,828 370 348 718 39.40 39.15 39.28

aEt 88,696 | 86,694 | 175,390 | 35970 | 37,146 | 73,116 40.55 42.85 41.69




